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10.

11.

12.

13.

14.

15.

D : 1
2

16 8; 8 64

A : 1
2

7 7
2

; 7
2

49
4

A : 1
2

3
4

3
8

; 3
8

9
64

B : 81 9; 9 2 18;

middle term is 18X

C : 144 12; 12 2 24;

middle term is 24X

A : 16
25

4
5

; 4
5

2 8
5

;

middle term is 8
5

X

D : X 14X 49 X 7 X 7

B : X 8X 4

X 8X 16 4 16

X 8X 16 20

X 4 20

X 4 20

X 4 2 5

X 4 2 5

D : X 10X 3

X 10X 25 3 25

X 5 22

X 5 22

X 5 22

C : X 4X 8

X 4X 4 8 4

X 2 4

X 2 4
X 2 2i

X 2 2i

D : 4 L 8

16 L 64

L 48

L 48

L 16 3

L 4 3

A : 1 liter 1.06 quarts

B : by definition

C : The sum of the measures of the

interior angles of a triangle is 180º.

B : by definition
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1.

2.

3.

4.

5.

6.

7.

B : A, C and D are equations whose

highest exponent is 2. The

quadratic equation works for

equations of this nature only.

B : B B 4AC
2A

C : All quadratic equations have

constants A, B and C, which can be

substituted into the quadratic

formula. Not every quadratic

equation can be factored.

C : Standard form provides A, B and

C with the proper sign

A : 7X 2X 1 0

A 7; B 2; C 1

A : X 36 0

X 6 X 6 0

X 6 0
X 6

X 6 0
X 6

D : X 3X 3 0

A 1; B 3; C 3

X 3 3 4 1 3
2 1

3 9 12
2

3 3
2

3 i 3
2

2

2

2

2

2
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B : 5X 2X 1 0

A 5; B 2; C 1

X 2 2 4 5 1
2 5

2 4 20
10

2 4 20
10

2 24
10

2 4 6
10

2 2 6
10

1 6
5

D : 4X 20X 25 0

2X 5 2X 5 0

2X 5 0
2X 5

X 5
2

2

2

2
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10.

11.

12.

13.

14.

15.

C : 4X 4X 10 0

A 4; B 4; C 10

X 4 4 4 4 10
2 4

4 16 160
8

4 16 160
8

4 176
8

4 16 11
8

4 4 11
8

1 11
2

C : ED

B : A rhombus and a parallelogram

have 2 pairs of parallel sides. A

regular polygon may have any

number of sides.

C : SAS stands for side angle side.

D : Knowing that the angles of one

triangle are the same as the angles

of another triangle proves

similarity, not congruence.

A : 1 yard .9 meters

2

2

25

A B

25
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11.

12.

13.

14.
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C : 4X 4X 10 0

A 4; B 4; C 10

X 4 4 4 4 10
2 4

4 16 160
8

4 16 160
8

4 176
8

4 16 11
8

4 4 11
8

1 11
2

C : ED

B : A rhombus and a parallelogram

have 2 pairs of parallel sides. A

regular polygon may have any

number of sides.

C : SAS stands for side angle side.

D : Knowing that the angles of one

triangle are the same as the angles

of another triangle proves

similarity, not congruence.

A : 1 yard .9 meters
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F
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10.

11.

12.

13.

14.

15.

C : 4X 4X 10 0

A 4; B 4; C 10

X 4 4 4 4 10
2 4

4 16 160
8

4 16 160
8

4 176
8

4 16 11
8

4 4 11
8

1 11
2

C : ED

B : A rhombus and a parallelogram

have 2 pairs of parallel sides. A

regular polygon may have any

number of sides.

C : SAS stands for side angle side.

D : Knowing that the angles of one

triangle are the same as the angles

of another triangle proves

similarity, not congruence.

A : 1 yard .9 meters
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B : real, rational, equal

A : real, rational, unequal

D : imaginary

C : real, irrational, unequal

C : X X X 9

X 9 0

A 1; B 0; C 9

B 4AC 0 4 1 9

0 36

0 36 36

2

2

2 2

( )( ) ( )

+ =
− + =
= = − =

− => − − =
− = −

6. D : X 5 2X

X 2X 5 0

A 1; B 2; C 5

B 4AC 2 4 1 5

4 20 16
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2 2
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B : X 9 6X

X 6X 9 0

A 1; B 6; C 9

B 4AC 6 4 1 9

36 36 0

A : X 32 4X

X 4X 32 0

X 4 4 4 1 32
2 1

4 16 128
2

4 144
2

4 12
2

2 6
1

2 6

X 4; X 8

A : X 3X 6 0

X 3 3 4 1 6
2 1

3 9 24
2

3 9 24
2

3 33
2

C : X 5X 8

X 5X 8 0

X 5 5 4 1 8
2 1

5 25 32
2

5 7
2

5 i 7
2

D : A and B are not true, C is true, but

does not prove triangles congruent.

B : 62,000 .75

6.2 10 7.5 10

6.2 7.5 10 10

46.5 10 4.65 10

A : similar

D : They are mirror images of each other.

A : The figure has been translated or

moved over 2 and down 6.

2

2

2 2

2

2

2

2

2

2

2

2

4 1

4 1

3 4

( )( )
( )

( ) ( )

( )

( )

( ) ( ) ( )

( ) ( ) ( )

( )

( )

( ) ( ) ( )
( )

( )
( )

( )

( )
( )

+ = −
+ + =
= = =

− => − =
− =

− = −
+ − =

= − ± − − =

− ± − − = − ± =

− ± = − ± = − ±

= = −

+ − =

= − ± − − =

− ± − − = − ± + =

− ±

− = −
− + =

= − − ± − − =

± − = ± − = ±

× =

× × =

× × =

× = ×

−

−

7.
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10.

11.

12.

13.

14.

15.

B : X 9 6X

X 6X 9 0

A 1; B 6; C 9

B 4AC 6 4 1 9

36 36 0

A : X 32 4X

X 4X 32 0

X 4 4 4 1 32
2 1

4 16 128
2

4 144
2

4 12
2

2 6
1

2 6

X 4; X 8

A : X 3X 6 0

X 3 3 4 1 6
2 1

3 9 24
2

3 9 24
2

3 33
2

C : X 5X 8

X 5X 8 0

X 5 5 4 1 8
2 1

5 25 32
2

5 7
2

5 i 7
2

D : A and B are not true, C is true, but

does not prove triangles congruent.

B : 62,000 .75

6.2 10 7.5 10

6.2 7.5 10 10

46.5 10 4.65 10

A : similar

D : They are mirror images of each other.

A : The figure has been translated or

moved over 2 and down 6.
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1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

14.

15.

C : 250 200 $50 saved

WP 250 50

WP 50
250

WP 1
5

.20 20%

A : 24 12 $12 markup

WP 12 12

W 12
12

1 100%

C : 7.83 7.25 .58 raise

WP 7.25 .58

WP .58
7.25

.08 8% raise

D : P the amount paid for the house

P 25% of P $100,000

P .25P 100,000

P 1 .25 100,000

1.25P 100,000

P 100,000
1.25

80,000

A : 38.95 .05 1.95 tax

38.95 .20 7.79 tip

38.95 1.95 7.79 $48.69

A : .45 75 33.75 off

75 33.75 $41.25

B : .40 32 $12.80 markup

32.00 12.80 $44.80

D : 35
23 35

35
58

.60 60%

D : 2 16
12 32

32
44

.73 73%

C : 23
23 16 1

23
40

.575 58%

B : 9 1

9

1
81

A : Y
X

4Y
X 2

Y X 2
X X 2

4Y X
X 2 X

XY 2Y
X X 2

4XY
X X 2

5XY 2Y
X X 2

X ≠ 0, 2

B : Area of circle πr

3.14 3 28.26 units

unshaded portion is 

100% 15% 85% of whole circle

85% 28.26 .85 28.26

24.02 units

C : the quadratic formula

D : 2 5 5 12 2 5 5 12 10 60

10 4 15 10 2 15 20 15

2
2

2

2 2

2


